L
fic
3
&
g

UEERR

) ERAC SR
REBPELENETO
TR AL

#@o
bR

A10325 | A\—F3/SUF

- SGPERDEERIL/> K,
o @ [A103233L/X> K| &4 it ARV Bl
Tt @BRERDo ST,

mEI—FK A10325 /N\— K3/ F

ML

BA{57 (mm)
YA [ & | FOR | opme BRIV b AH
J-F A) (B) BEENE| t C ExXEX D P F )
0014 15A A 21.7 23] 25 M 6X20 45 20 6 300
0029 20A % 27.2 23 | 25 M 6Xx20 45 | 20 6 230
0033 25A 1 34.0 23| 25 M 6X20 45 20 6 190
0048 32A 1% 42.7 23 | 25 M 6X20 45 | 20 6 150
0052 40A 1% 48.6 23 | 25 M 6X20 45 | 20 6 130
0067 50A 2 60.5 23 | 25 M 6Xx20 45 | 20 6 150
0071 65A 2% 76.3 26 | 25 M 6Xx20 45 | 20 6 150
0086 80A 3 89.1 26 | 25 M 6X20 45 20 6 130
N y 0118 100A 4 114.3 26 | 25 M 6X20 45 20 6 100
__;‘___g 0122 125A 5) 139.8 45 | 32 M10 X 30 60 | 27 8 40
S 0137 150A 6 165.2 45 | 32 M10 X 30 60 | 27 8 40

) EEFRCLOEEBRY
| REZBELHVETD
TTHBED,

HED
B b S

A11213 ] EXHoEN—KRIL/IVF

SGPERDIEENIL/N K,
@ [A10363E 58 > ZIL/N> K&V iR E VWSS,
@ ZFERD > L LT,

@mEBEI—F AN213 EXHoZN—RNIALNVF

) ERARIC R
| RABBALEIETO
TTHRBLLS

@b
Bl R

76

BT (mm)
Y14Z | B B | FOR | p s, AL b A%H
0012 15A % 217 | 23| 25 | M6x20 | 45 | 20 | 6
0027 204 | % 272 | 23| 25 | M6x20 | 45 | 20 | 6
0031 25A 1 340 | 23| 25| M6x20 | 45 | 20 | 6
0046 24 | 1% 427 | 23| 25| M6x20 | 45 | 20 | 6
0065 04 | 1% 486 | 23| 25 | M6x20 | 45 | 20 | 6
0070 50A 2 605 | 23| 25 | M6x20 | 45 | 20 | 6
0084 65A | 214 763 | 26| 25 | M6x20 | 45 | 20 | 6
0099 80A 3 891 | 26| 25 | M6x20 | 45 | 20 | 6
Nz 0101 100A 4 1143 | 26| 25 | M6x20 | 45 | 20 | 6
]
= . N +~
A10326 | AT /S F
F
PN SGPEADIIRIL/N> K.
i OTSENH - Xt L IF,
mEI—FK A10326 #EITXIZ/NVK BT (mm)
PAZX [ & | FOR | onme et RIL b A
Al | [EREAZ| t | c EULNT D | P | F |
0011 15A % 217 | 20| 25 | M6X20 | 45 | 20 | 6 | 300
. 0026 204 | % 272 | 20| 25 | M6x20 | 45 | 20 | 6 | 230
- 0045 25A 1 340 | 20|25 | M6x20 | 45 | 20 | 6 | 190
4—[ 0050 322A | 1% 427 20| 25| M6x20 | 45 | 20 | 6 | 150
S EL 0064 40A | 1% 486 | 20| 25 | M6x20 | 45 | 20 | 6 | 130
| 0079 50A | 2 605 | 20| 25 | M 6x20 | 45 | 20 | 6 | 130
e 0083 65A | 27 763 | 20| 25 | M6x20 | 45 | 20 | 6 | 100
0098 80A 3 801 | 20| 25 | M6x20 | 45 | 20 | 6 | 70
N 0115 | 100A 4 1143 | 20| 25 | M6x20 | 45 | 20 | 6 | 50
Nuz 0120 | 125A 5 139.8 | 32 | 32 | M10x30 | 60 | 27 | 8
—L 0134 150A 6 165.2 | 32| 32 | M10%x30 | 60 | 27 | 8




